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QUESTION 1

One of the stages of the Business Activity Process Model is \\'Consider the perspectives\\'. Which of the following would
be particularly relevant in this stage?

A. PESTLE analysis.

B. Requirements Modelling.

C. Cost Benefit Analysis.

D. Business Activity Modelling.

Correct Answer: D

QUESTION 2

An IT department needs to upgrade its hardware to run the new version of an established operating system. The cost of
this required upgrade is $2 million. As an alternative, the IT director has suggested that the company should change to a
completely different operating system. Although this will cost $6 million, the change will bring many other benefits,
including cheaper maintenance costs and increased security. What is the avoided cost in his proposal?

A. $2 million.

B. $4 million.

C. $6 million.

D. $8 million.

Correct Answer: A

QUESTION 3

The table below shows the costs and savings associated with a project. In which of the following years does the project
break even?

Item Year 0 Year 1 Year 2 Year 3 Year 4
Hardware £250,000 |£0 £0 o 2o
Sofware Acquisition [£75,000 |[£0 £0 £0 £0
Maintenance £10,000 [£11,000 |€12000 [£13,000 [£14000
User Training £5,000  |£0 £0 £0 £0
Savings £40,000 [£100000 |£100,000 {£100,000 |£100,000

A. Year 2.

B. Year 3.
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C. Year 4.

D. The project does not pay back within the four year period.

Correct Answer: C

QUESTION 4

Which answer would you describe about each stakeholder?
A. Justification.

B. Attitude.

C. Owner.

D. Resolution.

Correct Answer: B

QUESTION 5

What are subsequent changes subject to once a requirements document has been signed off?
A. Requirements verification.

B. Requirements documentation.

C. Requirements validation.

D. Requirements management.

Correct Answer: D
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